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1) 2)  Anamount was decreased by 10% to 3) Decrease 96 by /o,
30_4= $45.00. Find the original amount.
Volume of Cone
26

Answer: Answer: Answer:
4) 231 + (-946) 5) 9x 100 6) A number was shared in theratio
23:6. The smaller share was 48.
What was the total amount shared?
Answer: Answer: Answer:
7) 6/15+13/14 8)  Write9x 102 asanormal number. 9)  Factorise 6x2 + 35x + 16
Answer: Answer: Answer:

10) Convert thefollowing fraction into a
mixed number: 35/;4

11) (72x14x12) -9

12) Convert the following mixed number
1416/,5 to an improper fraction.

Answer: Answer: Answer:
13)  Write 3 x 107 asanormal number. 14) / 15) 527 + 17
A B =36
Find the Angle at side A.
Answer: Answer: Answer:
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16) 970 - 813 17)  Increase 114 by %57 18) 19, - 19
Answer: Answer: Answer:
19) Find the median of the following set of data: 20) Si mp| |fy 38:43 21) Factorise X2 +9Ox + 14
39, 25, 37, 28, 27, 25, 38, 24, 27,
28,6, 38,22, 34
Answer: Answer: Answer:
22) Solve by factorisi ng 23) Find the median of the following set of data: 24) 494.2 + 416.8
f24+14f+13=0 19, 26, 3, 6, 3, 34, 28, 15, 4, 13, 23,
11, 30, 25, 28
Answer: Answer: Answer:

25)  494.2+416.8

26) Round 7.618 to 2 significant figures.

27) Round 7.618 to 2 significant figures.

Answer: Answer: Answer:
28) Share 46 in theratio 15:8 29) Find area of triangle 30)
a=304ft,b=778ft 26 7 Find Volume of
b ¢ /28 Triangular Pyramid
29 28
a 27
Answer: Answer: Answer:
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31)  (-423) +167 32) 1913/14 x 12215 33) Decrease 266 by Ygg
Answer: Answer: Answer:
34)  Increase 10 by 2/5, 35) Share 53 in theratio 44:9 36) Solve by factorising
f2-9f+18=0
Answer: Answer: Answer:
37) Convert the following improper 38) (5x12)-92-5 39) 125 of 150
fraction 10%s5 + 72/ to amixed
number
Answer: Answer: Answer:

40)  48x 100

Answer:

Total: /40

Copyright 2018 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

May 26, 2018

1) 21237.166338267
8) 900

15) 31
22)f=-1or-13

29) 118256ft
36)f=60r3

2) $40.50

9) (3x + 16)(x + 1)
16) 157

23) 15

30) 3393

37) 18%/35
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Answers:
3)92 4)-715 5) 900 6) 232 7192145
10) 21/, 11) 12) 198/,4 13) 30000000 14) 144
17) 118 18) 2 19) 31 20) 38: 43 21) (X + 2)(x + 7)
24) 911 25) 911 26) 7.6 27)76 28) 2: 44
31) -256 32) 2523/7 33) 259 34) 14 35)1:52
39) 39) 2 40) 4800
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